M abu U

Assembly Instruction

Model : TV 23002 Hardware List
No,| SHAPE DESCRIPTION Qty.
Al & |8x25mm Dowel 38Pcs
15MM
B| &2 Msyﬁx Minifix R0Sets
C| <«=® |M3.5x16mm Screw 52Pcs
D | emmmg | M4x45mm Screw 17Pcs
E| O |Handle209 3Pcs
F| <=8 |M4x28mm Screw 3Pcs
G| QY |5/8 Nail With Pin 6Pcs
H| —= |6/8 Power Pin 30Pcs
| é Drawer Slide 3560mm 1Set
=
J| & | ABS Drawer Pin Black 4 Pin | 4Pcs
K % Hinges 7/8 4Pcs
L| ©> |Sticker 6Pcs
M| =g |M4x20mm Screw 16Pcs

Flat Shaped - Le
® aped = Left
"L" Shaped -
~ Flat Shaped - Right
q

Part List




Assembly Instruction

8x25mm Dowel

38Pcs

Step 2

<@ | M3.5x16mm Screw

6Pcs

Drawer Slide 350mm - L

1Pc

== | Drawer Slide 350mm- R

1Pc




Assembly

nstruction

@ | Myfix

20Pcs

Step 4

wmm@ | M4x20mm Screw 16Pcs
ABS Drawer Pin
$> | Black 4 Pin pi

@2 | Minifix

4Pcs

Step 6

%

Minifix

5Pcs




Assembly Instruction

Step 7

)

M4x45mm Screw

2Pcs

Step 8 D| et | M4x45mm Screw

2Pcs

Step 9

M4x45mm Screw

4Pcs

Step 10




Assembly Instruction

Step 11

) | \M4x45mm Screw

3Pcs

L| O | Sticker

3Pcs

Step 12

M4x45mm Screw

Sticker

Qr | 5/8 Nail With Pin

g

Minifix

8Pcs




Assembly Instruction

Step 15

_—

6/8 Power Pin

30Pcs

Step 16

M3.5x16mm Screw

12Pcs

Hinges 7/8

2Pcs




Assembly Instruction

Step 17 E| (& |Handle209 1Pc F| «==e |M4x28mm Screw 1Pc

Step 18 |C| <«=® |M3.5x16mm Screw 12Pcs K %@ Hinges 7/8 2Pcs




Assembly Instruction

Step 19

o

Handle 209

1Pc

F | —

M4x28mm Screw 1Pc

Step 20

wmmn® | M4x45mm Screw

Step 21

D | wmmwg | M4x45mm Screw

1Pc




Assembly Instruction

Step 22

Step 23

B

@2

Minifix

1Pc

Minifix

Handle 209

1Pc

M4x28mm Screw

1Pec




Assembly Instruction

Step 26 || <@ | M3.5x16mm Screw

3Pcs

| | ====| Drawer Slide 350mm-L | 1Pc

Step 27 |C| <@ |M3.5x16mm Screw

3Pcs

| | ====| Drawer Slide 350mm- R | 1Pc

Step 28

10




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

